Beverage lab information- This is an example of how some of your data, results, calculations, and answers to questions should look.  Learn from this example so that future lab reports are better organized and presented. 

Data table:

	Solution
	Mass (g)
	Sample volume (mL)
	Density (g/mL)

	0 % sugar
	9.95 g
	10.00mL
	0.995 g/mL

	5% sugar
	10.07 g
	10.00 mL
	1.007 g/mL

	10% sugar
	10.31 g
	10.00 mL
	1.031 g/mL

	15% sugar
	10.48 g
	10.00 mL
	1.048 g/mL

	20% sugar
	10.78 g
	10.00 mL
	1.078 g/mL


	Beverage
	Mass (g)
	Sample Volume (mL)
	Density (g/mL)

	Coca cola
	10.29 g
	10.00 mL
	1.029 g/mL

	Kiwi Twister
	10.42 g
	10.00 mL
	1.042 g/mL


Calculations:

Density = 
mass


Volume

For 0% sugar:

9.95 g

=
0.995 g/mL




10.00 mL

for 5% sugar:

10.07 g
=
1.007 g/mL




10.00 mL

and so forth for each density.  You should have shown at LEAST one density calculation, including the general equation in words.

Calculations for g of solution per serving:

Volume of solution per serving x density of solution = mass of solution per serving

For coca-cola:



For kiwi twister:

240 mL x 1.029 g/mL  = 246.96 g

240 mL x 1.042 g/mL
= 250.08g

OR





and so forth…you’d show the same 







Calculations for Kiwi Twister as you

X g
=
1.029 g


did for the coca-cola

240 mL
1 mL

X g =
(240 mL) (1.029 g)



1 mL

X g = 246.96 g

Percent of sugar in solution based on nutrition information:

Grams of sugar
x 100
=
percent of sugar in solution by mass

Grams of solution 

For coca-cola:

27 g

x 100 
=
10.93 % sugar

246.96 g

You would do the same type of calculation for the kiwi twister, too.

Results:

	Beverage
	% of sugar from graph
	Grams of sugar per serving

(measured value)
	mL of solution per serving
	g of solution per serving
	Percent of sugar in solution based on nutrition information

(accepted value)

	Coca cola
	9.5%
	27 g
	240 mL
	246.96 g
	10.93 %

	Kiwi twister
	12.3 %
	30 g
	240 mL
	250.08 g
	12.00 %


Discussion:

Percent error calculations:

│ percent of sugar based on nutrition label – percent of sugar based on graph│ x 100  =




Percent of sugar based on nutrition label

For coca- cola:

│10.93 – 9.5│
x 100
= 13.08 % error
      10.93

 For kiwi: you’d show the percent error for that, too.

Question 6:  answers varied.  Mentioning that 1.00 g/mL is based on 4 deg C and we were not at 4 deg C was very good.  If you look in the book, you’ll see that density is temperature dependent.  Human errors were not as good of a reason.

Conclusions:

Question 7: We assumed that the other ingredients had no affect on mass or volume, or that their contribution to density was nothing.  Valid assumption? : accepted anything logical

Question 8: Lines of best fit smooth out small errors.  You should get nearly the same results, but probably not exactly the same results if you redo the lab.  Sources of error:  that little air bubble at the end of the pipette, not rinsing out the pipette with the next solution, not removing all solution from pipette when putting it in the beaker

